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L(D)AUAF, g € LR MBRE X
(2)BES = X(2.21 () (RHERRED) KR [ f.
2% f, K € LR"),H [;, K(z)dz = a, K (z) = éK(g).*iﬁ:
()AEfHNESL Sakh lim, o f * K.(2) = af(z).
(2)BEf € Co(R™),KIE{f * K.(2)} K TFe—BWHTaf(2).

3T = [—m, 7], f € L(T),f(x) M FourierHEN f (z) ~ > po _ cre
(Wfa+ 1)~ T Moo
(2) W fAE[—m, m AT IELE, KIES (x) ~ Yo ikcge™™ ™.
4.% f(x) = 2(7r—ar;)0<ac<27r.
(1)K f (x) M Fourier 2 44 ;
(Q)XFourleréﬁiﬁ)IE'ﬁn BREL
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5.(1)8f € L(R™),KilE f i Fourier3 # f 1 —BUE BRI F ik 8L
(2) R EE I SRAE i Fourier 34 (& — BUELE A SR L.
6.(1) T/ W2t AR ¥ TN L E  f € L(R™),idg(z) = f(Tx),K
[ det(T)| = (T~
(2)# f, g € L>(R™),UE B Tyt A = fRﬂ z)dz = [o. f(x)g(x)de.
7.(1)341 < p < coffHEBHS(R™) C LP(R”) élp = ool JEHS(R™) C

Co(R"

(2)3KiE:Fourier & # /& S(R™) — S(R™) L)1 SR 28 1 5.



